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<tfroot>

show egtpc peers interface

show egtpc peers path-failure-history

show egtpc statistics path-failure-reasons

show egtp-service all

show egtpc sessions

show egtpc statistics

egtpc test echo gtp-version 2 src-address <source node IP address> peer-address <remote node IP addres

For more details about this commands refer this mentioned 1ink

https://ww. ci sco. com c/ en/ us/ support/docs/ wirel ess-nobility/gateway-gprs-support-node-ggsn/119246-techr
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Internal trap notification 1112 (EGTPCPathFail) context sllmme, service sll-mme, interface type mme, se



service EGTP1l, interface type pgw-ingres

Internal trap notification 1112 (EGTPCPathFail) context XGWin,
service EGTP1l, interface type pgw-ingres

Internal trap notification 1112 (EGTPCPathFail) context XGWin,

GW(Vendor Gateway)Oﬂkl MAZ 7t2E7I HEE 32 SGSN(Servmg GPRS Support Node)|
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1. SGSNO| GGSN(Gateway GPRS Support Node)oll #1222 4= HLE GGSNoY Af A
A= 728 2hE EAISHX| et =20l R A% El Z<? PDP(Create Policy Decision Point)
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3. GTP QIEHH[O|A = MA|ZF K& FX5HT| 2I5H RHAIZ FI2EE AFS ' LICH TS
23.0600{ (20 GTP =E= 2Z GTP AMA|ZF FI2E|E FM 57| Qs Y7 AEZX|IE
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show sgtp-service dl | grep "restart” ----------------- to check RC value

[local]Nodenamet show egtp-service all | more

Service name : egtpc_sv_service
Service-ld :5
Context : SGs
Interface Type > mme
Status : STARTED
Restart Counter R RC valueto verify
Max Remote Restart Counter Change  : 255
Message Validation Mode : Standard
GTPU-Context :
GTPC Retransmission Timeout : 5000 (milliseconds)
GTPC Maximum Reguest Retransmissions : 4
GTPC IP QOS DSCP value 10
GTPC Echo : Enabled
GTPC Echo Mode : Default
[local]Nodenamett show egtpc peers ~ -------—---—- To check link status
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+----Status: (I) - Inactive (A) - Active

I

[+---GTPC Echo: (D) - Disabled (E) - Enabled
I

|[+--Restart Counter Sent: (S) - Sent  (N) - Not Sent
Il

||[+-Peer Restart Counter:  (K) - Known  (U) - Unknown
1l

llll+-Type of Node: (9-SGW (P - PGW

il (M)-MME  (G)- SGSN

il (L)-LGW  (E)-ePDG

(il (©)-CGW  (B)-MBMS

{1 (U) - Unknown

(il

Il Service Restart-------- + No. of

Il 1D Counter | restarts

(i | | Current  Max

VWW Vv Peer Address VvV VvV sessions sessions LCI OCI
IDSKS 10 XX XX 91 0 0 0 X X
IDNKS 11 YYYY 4 95 0 34005 X X
IDNKS 11 2227 10 103 0 16805 X X
IDNKS 11 AAAA 104 95 0 7250 X X
AESKS 11 B.B.B.B 00 4004 47649 X X
AESKS 11 cCc.ccC 00 4053 46571 X X
AESKS 11 D.D.D.D 00 4026 46734 X X

ABove output peersif you see no sessions on this peer and aso link are inactive
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egtpc test echo gtp-version 2 src-address <MME end | P> peer-address <EPG end | P>

Ol Restart Counter(RHA|ZF 72 E]) 22 M50 Qe = EGTP I[0{9] S11 QIE{H 0| A0f CHEF MMES| gt SUSHAH #+A48H it
= Echo 2%/8H 0| H&o|x|gt 37t 047< Sl HIEN dEf mo| &24]Lct.

[s11mme] Nodenamet egtpc test echo gtp-version 2 src-address <X.X.X.X> peer-address<Y.Y.Y.Y>

Sunday February 05 16:22:42 | ST 2023

EGTPC test echo
Peer: X. X.X.X Tx/Rx: /1 RTT(ms): 1 (COMPLETE) Recovery: 10 (Ox0A)
L 2ATF UE OHE dFE HE GWUHIME WY CHZ 2 S3tx| of=Ct of7|of dTE CHZ o 2 & /SEoll CHEr Fol7t Al
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[s11mme] Nodenamet egtpc test echo gtp-version 2 src-address <X.X.X.X> peer-address<Y.Y.Y.Y>

Sunday February 05 16:46:11 IST 2023

EGTPC test echo

Peer: X.X.X.X TX/Rx: 1/0 RTT(ms):0 (FAILURE)
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